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Sem. I/II
Basic Phy

Full Marks : 70
Pass Marks : 28

PTO

Answer all 20 Questions from Group-A, each question carries 1 mark.
xzqi&A ls lHkh iz’uksa ds mÙkj nsa] izR;sd iz’u dk eku 1 vad gSA

Answer all five questions from Group-B, each question carries 4 marks.
xzqi&B ls ik¡p iz’ukas ds mÙkj nsa] izR;sd iz’u dk eku 4 vad gSA

Answer all five questions from Group-C, each question carries 6 marks.
xzqi&C ls ik¡p iz’ukas ds mÙkj nsa] izR;sd iz’u dk eku 6 vad gSA

All parts of a question must be answered at one place
in sequence, otherwise they may not be evaluated.

,d iz’u ds lHkh va’kks dk mÙkj ,d gh txg ¼yxkrkj Øe esa½ gksuk
pkfg,] vU;Fkk os ugha tk¡ps tk ldrs gSaA

The figures in right hand margin indicate full marks
nk,¡ ikÜoZ ds vad iw.kkZ ad ds lwpd gSaA



GROUP-A
1. Choose the most suitable answer from the following options.

¼lokZf/kd mi;qZDr fodYi dks pqudj fy[ksa½ %&

(i) Ammeter measures.
(a) Electrical current
(b) Potential difference
(c) Both (a) and (b)
(d) None of these

(i) vkehVj ekirk gS %

(v) fo|qr /kkjk
(c) foHkokUrj

(l) nksuks ¼v½ ,oa ¼c½

(n) buesa ls dksbZ ugha

(ii) Least count of scrow  gange :
(a) Pitch - Total circular scale division
(b) Pitch / Total Circular scale division
(c) Total circular scale division - Pitch
(d) None of these

(ii) LØqxst dk vYirekad gksrk gS %

(v) Hkze;kad & dqy o`rh; iSekus dk foHkkx
(c) Hkze;kad @ dqy o`rh; iSekus dk foHkkx

(l) dqy o`rh; iSekus dk foHkkx & Hkze;kad

(n) buesa ls dksbZ ughaA
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(iii) Stress is equal to
(a)  Applied force / Cross - sectional area.
(b) Restoring force / Cross - sectional area
(c) Cross sectional area x Restoring force
(d) Applied force / Restoring force

(iii) izfrcy cjkcj gksrk gS %

(v) vkjksfir cy@vuqizLFk dkVh; {ks=Qy

(c) izR;kuu cy@vuqizLFk dkVh; {ks=Qy

(l) vuqizLFk dkVh; {ks=Qy@izR;kuu cy

(n) vkjksfir cy@izR;kuu cy

(iv) Hook's Law is (within elastic limit)
(a) Stress - strain = Constant
(b) Strain - stress = Constant
(c) Strain / Strain = Constant
(d) None of these.

(iv) gqd dk fu;e ls ¼izR;kLFkrk lhek ds vaUnj½

(v) izfrcy & fod`fr = vpj jkf'k

(c) fod`fr & izfrcy = vpj jkf'k

(l) izfrcy @ fod`fr = vpj jkf'k

(n) buesa ls dksbZ ugha

(v) For Iso thermal Process :
(a) PV = Constant
(b) V

T = Constant



(c) Both (a) and (b) holds good.
(d) None of the above.

(v) lerkih; izfØ;k ds fy, gksxk

(v) PV = vpj jkf'k

(c) V
T =  vpj jkf'k

(l) ¼v½ ,oa ¼c½ nksuks a gksxkA

(n) mi;qZDr esa ls dksbZ ugha

(vi) Mirage appears in desert due to
(a) Reflection
(b) Refraction
(c) Total internal refraction
(d) None of these

(vi) e`x efjfpd e:Hkwfe esa mRiUu gksrk gS %------- ds dkj.k

(v) ijkorZu
(c) viorZu

(l) iw.kZ vkUrfjd ijkorZu

(n) buesa ls dksbZ ugha

(vii) Bending of ray of light at sharp edge is called
(a) Reflection
(b) Diffraction
(c) Polarisation
(d) None of these
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(vii) fdlh rh[kh fdukjk ls izdk'k fdj.k dh eqMus dh ?kVuk

dks dgrs gS %

(v) ijkorZu
(c) foorZu

(l) /kz qo.k

(n) buesa ls dksbZ ughaA

(viii) Huggens wave theory says light is a form of
(a) Particle
(b) Wave
(c) Both (a) and (b)
(d) None of these

(viii) gkxsUl us izdk'k dks fdj.kks a dks ---------- dgk gSA

(v) d.k
(c) rjax

(l) nksuksa ¼v½ ,oa ¼c½

(n) buesa ls dksbZ ugha

(ix) Young's experiment fringes happens due to
(a) Reflection of light
(b) Refraction of light
(c) Interference of light
(d) None of these
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(ix) ;ax dk iz;ksx ls fÝUt izkIr gksrh gS ----------- ds dkj.k

(v) izdk'k ds ijkorZu
(c) izdk'k ds viorZu

(l) izdk'k ds O;frdj.k
(n) buesa ls dksbZ ughaA

(x) Photo electrical effect property of light based on
(a) Corpuseles theory of light
(b) Wave theory of light
(c) Both (a) and (b)
(d) None of these

(x) izdk'k fo|qr izHkko dk xq.k vk/kkfjr gS

(v) izdk'k ds df.kdk fl)kUr ij

(c) izdk'k ds rjaxxfr fl)kUr ij

(l) nksuksa ¼v½ ,oa ¼c½ ij

(n) buesa ls dksbZ ughaA

(xi) Which statement is not correct
(a) X - ray is visible
(b) X - ray is non visible
(c) X - ray travels in straight path
(d) X - ray also show diffraction

(xi) dkSu lk dFku xyr gSA

(v) X - fdj.k n`'; gSA
(c) X - fdj.k vn`'; gS

(l) X - fdj.k lh/kh js[kk esa xe.k djrh gSA
(n) X - fdj.k dk foorZu gksrk gSA

(xii) Mostly hard x-ray is used in
(a) Engineering
(b) Medicine
(c) In simple photography
(d) None of them

(xii) eq[;r% dBksj x-fdj.k dk O;ogkj ----- esa fd;k tkrk gS
(v) vfHk;a=.k dk;ksZ esaA

(c) fpfdRlk esa

(l) lkekU; QksVks [khapus esaA

(n) buesa ls dksbZ ughaA

(xiii) More viscosity means
(a) more density
(b) less inter molecular atomic ferce
(c) more intermolecular atomic force
(d) none of them

(xiii) vf/kd ';kurk dk vFkZ gS fd &

(v) vf/kd ?kuRo

(c) de vUrj vf.od@vUrj ijek.kfod oy

(l)  vf/kd vUrjkf.od@ vaUrjijek.kfod cy

(n) buesa ls dksbZ ughaA

(xiv) A liquid has 00 angle of contact with respect to glass.
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(a) It will not wet the wall of glass vessel
(b) It will wet the wall of glass vessel
(c) It disolve the wall of the glass vessel
(d) None of these

(xiv) dksbZ nzo dk¡p ds lkis{k lEidZ dks.k 00 gS rks
(v) ;g dk¡p ik= ds nhoky ds lrg dks ugh fHkxks;sxk
(c) ;g dk¡p ik= ds nhoky ds lrg dks fHkxks;sxk

(l) ;g dk¡p ik= ds nhoky ds lrg dks ?kwyk nsxk

(n) buesa ls dksbZ ughaA

(xv) Collimated rays means 
(a) Parallel of rays.
(b) Having same colour of rays
(c) Rays are in same phase
(d) None of the above

(xv) dkWfyesVsM fdj.kks a dk vFkZ gS

(v) fdj.ksa lekukUrj gSa
(c) lHkh fdj.kks a dk jax leku gS

(l) lHkh fdj.ksa leku dyk esa gS

(n) buesa ls dksbZ ugha

(xvi) Pumping method in LASER means
(a) Pumping of water
(b) Pumping of Protons
(c) Pumping of neutrons
(d) Pumping of electrons

(xvi) ystj esa iEihax dk vFkZ gS

(v) ikuh dk iEihx
(c) izksVkWu dk iEihx

(l) U;wVªkWu dk iEihx

(n) bysDVªkWu dk iEihx

(xvii) Work function ( ) is the binding energy of .......... with
metallic surface
(a) Photon
(b) Proton
(c) Neutrino
(d) Electron

(xvii) dk;ZQyu ( ) ,d ÅtkZ gS tks -------- dks /kkRohd lrg

ls cka/ks j[krh gSA

(v) QksVku
(c) izksVkWu

(l) U;wVªhuks

(n) bysDVªkWu

(xviii) The main source of energy of photo electrical cell is
(a) Bio energy
(b) Chemical reaction
(c) Mechanical energy
(d) Light energy
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(xviii) izdk'k fo|qr lsy dh ÅtkZ dk eq[; lzksr gS

(v) tSfod ÅtkZ

(c) jlk;fud ÅtkZ

(l) ;kaf=d ÅtkZ

(n) izdk'k ÅtkZ

(xix) Water is supplied from root to Tip of a tree due to
(a) Anti gravitational action
(b) Water rises insearch of light
(c) Lieves absorb humidity from atmosphere.
(d) Capillary action of fluid.

(xix) ty dh vkiwfrZ isM+ ds tM+ ls f'k[kj rd gksrh gS

bldk dkj.k gS

(v) foijhr xq#Roh; fØ;k
(c) ty izdk'k dh [kkst es a Åij p<+rk gS

(l) okrkoj.k dh vknzZrk dks ifÙk;k¡ vo'kksf"kr djrh gS

(n) rjyks a dk dsf'kdkd"kZ.k fØ;k

(xx) If  = coefficient of linear expansion;  = coefficient of sur-
face expansion r = coefficient of Volume expansion then
(a) 2 3 1

r   (b)      2 1 3
r   

(c) 3 2 1
r   (d)   1 2 3

r  

(xx) ;fn  = jSf[k; izlkjxq.kkad(  = {ks= izlkj xq.kkad ,oa
r = vk;ru izlkj xq.kkad gks rks ------ gksxk

(v) 2 3 1
r   (c)      2 1 3

r   

(l) 3 2 1
r   (n)   1 2 3

r  

GROUP-B
Answer all five questions :      5x4=20
lHkh ik¡p iz'uksa ds mÙkj nsaA

2. Define unit. Write the unit of Angular momentum and Work done.
bZdkbZ dh ifjHkk"kk fy[ksa dksf.k; laosx ,oa laikfnr dk;Z dh

bdkbZ fy[ksaA 4

OR (vFkok)
Write the formulla of Bulkmodulus and modulus of rigidity and
any one.
vk;ru izR;kLFkrk xq.kkad ,oa n`<+ izR;kLFkrk xq.kkad ds lq=

fy[ksa ,oa fdlh ,d dks ifjHkkf"kr djsaA 4

3. Write Few Lines about Accuracy and Precision
,D;wjslh ,oa iszfTltu ij dqN iafDr;k¡ fy[ksaA 4
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OR (vFkok)
Define Deforming force and Restoring force
vkjksfir cy ,oa izR;kuu cy dks ifjHkkf"kr djsaA 4

4. Define Adhesive force and Angle of Contact.
vklatu cy ,oa lEidZ dks.k dh ifjHkk"kk fy[ksaA 4

OR (vFkok)
What is buoyant force. Write down it's formula
mRiykod cy D;k gS\ bldk lq= fy[ksa 4

5. The free surface of liquid in capillary tube is curved why?
nzo dk eqDr ry ds'kuyh ds vUnj oØ gksrk gS& D;ks a 4

OR (vFkok)
Write the formula of rise of liquid in capillary tube and write the
name of Terms used in it.
ds'kuyh esa nzo ds p<+ko dk lq= fy[ksa ,oa buds ladsrks dk uke

fy[ksa tks blesa mi;ksx gqvkA 4

6. Why Gases have two specific heat capacities.
D;ksa xSlksa dks nks fof'k"V m"ek /kkfjrk,¡ gksrh gS \ 4

OR (vFkok)
At 270C the volume of an ideal gas is 3 litres. What will be
volume at 400C
fdlh vkn'kZ xSl dk vk;ru 270C ij 3 yhVj gS rks 400C ij
vk;ru D;k gksxk 4

GROUP-C
Answer all Five questions :      5x6=30
lHkh ik¡p iz'uks ds mÙkj nsaA +:
7. What are the laws of thermal conductivity. Define the Coefficient

of thermal conductivity. Write the unit of coefficient of thermal
conductivity
m"ek pkydrk ds fu;eksa dks fy[ksaA m"ek pkydrk xq.kkad dks

ifjHkkf"kr djsaA m"ek pkydrk xq.kkad dh bdkbZ dks fy[ksaA 6
                                 OR (vFkok)
A rod made up of two metallic material dfyers of different
coefficient of linear expansion is heated. What happens? and
way? Explain with neat and clean picture.
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,d NM+ tks nks /kkRohd Lrjks ls cuk gS] budk jSf[k; izlkj

xq.kkad vyx vyx gS] xeZ fd;k tkrk gS rks D;k gksxk\ vkSj

dSls gksxk@ lkQ lqFkjh rLohj cukdj o.kZu djsaA 6

8. Write snell 's law. What is Physical signif icant of i t .  I f
1 5  ;   1 3a g a w     then ?w g  6

Lusy ds fu;e dks fy[ksa@ bldh HkkSfrd fof'k"Vhrk D;k gS\ ;fn

1 5  ;   1 3a g a w      rks ?w g 
OR (vFkok)

What is Principle of superposition waves. Explain Interference
of light, constructive and destructive interference.
rjaxksa ds v/;kjksiu ls vki D;k le>rs gS\ izdk'k dk O;frdj.k

dks le>kos] jpukRed ,oa fouk'kRed o;frdj.k dh O;k[;k

djsaA  6

9. Write few words about, Total internal reflection, dispersion and
Polarisation and Brag's angle.
iw.kZ vkUrfjd ijkoZru] foorZu] /kz qo.k ij izdk'k Mkys ,oa csXl

dks.k dks fy[ksaA 6
OR (vFkok)

Write Hooke's Law. Explain H.T. steal stress strain diagrams
with neat and clean graph. Indicate the position of ultimate and
breaking stress.

gqd ds fu;e dks fy[ksA mPpruko&bLikr ds izfrcy & fcd`fr

ds lkQ lqFkjh vkys[k cukos ftlesa vfYVesV foUnq ,oa rksM+u

izfrcy fcUnqvksa dks n'kkZosaA 6

10. Why we need of measurement in engineering and science.
What do you know about Relative error and percentage.
rdfudh vkSj foKku ds {ks= esa gesa ekiu dh vko';drk D;ksa

iM+h \ vkisf{kd =qfV ,oa izfr'kr =qfV ls vki D;k le>rs gSA

6
                                              OR (vFkok)
In screwgange what is zero error. If -5 is zero error, namber of
rotation is 5 and least count of screwgange is 0.001 cm. five
reading are 5 , 6 , 5 , 7 , 8  What is average value of measurement
& actual value
'kqU; =qfV LØqxst esa D;k gS\ ;fn -5 'kqU; =qfV gS] iw.kZ ?kw.kZu dh
la[;k 5 vYiekad 0.001 cm ,oa ik¡p i<u 5 , 6 , 5 , 7 , 8  gS rks
vkSlr ekiu D;k gS\ ,oa 'kq) eki D;k gksxk\ 6

11. Define :-
(a)  Elastic and plastic body
(b)  Surface tension and surface Energy
(c)  Critical velocity and terminalvelocity
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ifjHkkf"kr djsa  %& 6
(a)  izR;kLFk ,oa vizR;kL; fi.M

(b)  i`"B ruko ,oa i`"B ÅtkZ

(c)  ØkfUrd osx ,oa flekUr osx
OR (vFkok)

Define  :-
(a)  Conduction and radiation with example
(b)  Universal gas constant and Standard Temperature
(c)  Hard X-ray and Soft X-ray.
ifjHkkf"kr djsa %& 6
(a)  pkyd ,oa laogu izR;sd dk ,d mnkgj.k nsa
(b)  lkoZfxd xSl fu;rkad ,oa ijerki
(c)  dBksj X-fdj.k ,oa uje X-fdj.k

***


